

75 Langley Drive | Lawrenceville, GA 30046-6935 O: 770.822.8720 | F: 770.822.8735 GwinnettCounty.com

November 1, 2022

AWARD NOTICE BL093-22 Webb Gin House Road at SR 20/ Grayson Highway Intersection Improvement Project

Pursuant to the bids received on August 25, 2022 for BL093-22, Webb Gin House Road at SR 20/ Grayson Highway Intersection Improvement Project, the bid has been awarded to Backbone Infrastructure, LLC in the amount of \$1,448,736.36. Please note the enclosed bid tabulation.

We appreciate your bid and interest in Gwinnett County.

Sincerely,

oravise

Lindsey Gravitt Purchasing Associate II

LG/km

Enclosure

BL093-22

Webb Gin House Road at SR 20/ Grayson Highway Intersection Improvement Project Department of Transportation

Depart			Backbone Infrastructure, LLC (L)		CMC, Inc. (L)		CMES, Inc. (L)		E.R. Snell Contractor, Inc. (L)		Ohmshiv Construction, LLC (L)		Pittman Construction Company (OC)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
05	AERIAL PHOTOGRAPH DOCUMENTATION	7 MO	\$225.00	\$1,575.00	\$200.00	\$1,400.00	\$75.00	\$525.00	\$369.00	\$2,583.00	\$300.00	\$2,100.00	\$500.00	\$3,500.00
010	TRAFFIC CONTROL - PROJECT NO. M- 1078-02	1 LS	\$66,567.59	\$66,567.59	\$105,907.50	\$105,907.50	\$56,108.00	\$56,108.00	\$104,700.00	\$104,700.00	\$95,000.00	\$95,000.00	\$104,635.00	\$104,635.00
015	EROSION CONTROL, PROJECT NO. M- 1078-02	1 LS	\$4,000.00	\$4,000.00	\$35,500.00	\$35,500.00	\$5,700.00	\$5,700.00	\$12,100.00	\$12,100.00	\$10,500.00	\$10,500.00	\$30,000.00	\$30,000.00
020	CONSTRUCT, MAINTAIN & REMOVE SILT CONTROL GATE, TP3	3 EA	\$350.00	\$1,050.00	\$550.00	\$1,650.00	\$750.00	\$2,250.00	\$1,430.00	\$4,290.00	\$350.00	\$1,050.00	\$670.00	\$2,010.00
025	CONSTRUCT, MAINTAIN & REMOVE FABRIC CHECK DAM - TYPE C SILT FENCE	21 EA	\$250.00	\$5,250.00	\$215.00	\$4,515.00	\$200.00	\$4,200.00	\$364.00	\$7,644.00	\$300.00	\$6,300.00	\$284.00	\$5,964.00
030	CONSTRUCT, MAINTAIN & REMOVE ROCK FILTER DAMS	2 EA	\$100.00	\$200.00	\$1,050.00	\$2,100.00	\$750.00	\$1,500.00	\$650.00	\$1,300.00	\$300.00	\$600.00	\$800.00	\$1,600.00
035	CONSTRUCT, MAINTAIN & REMOVE INLET SEDIMENT TRAP	7 EA	\$50.00	\$350.00	\$280.00	\$1,960.00	\$250.00	\$1,750.00	\$622.00	\$4,354.00	\$225.00	\$1,575.00	\$335.00	\$2,345.00
040	TEMPORARY SILT FENCE, TYPE A	2,475 LF	\$3.50	\$8,662.50	\$2.50	\$6,187.50	\$3.00	\$7,425.00	\$5.65	\$13,983.75	\$2.00	\$4,950.00	\$4.55	\$11,261.25
045	FOUND BKFILL MATL, TP II	50 CY	\$40.00	\$2,000.00	\$42.00	\$2,100.00	\$78.00	\$3,900.00	\$100.00	\$5,000.00	\$60.00	\$3,000.00	\$70.00	\$3,500.00
050	GRADING COMPLETE - PROJECT NO. M- 1078-02	1 LS	\$426,013.86	\$426,013.86	\$360,948.71	\$360,948.71	\$409,320.00	\$409,320.00	\$334,600.00	\$334,600.00	\$445,555.00	\$445,555.00	\$504,485.00	\$504,485.00
055	UNDERCUT EXCAVATION: PROJECT NO. M-1078-02 (PER SPECIFICATION 210.5C)	750 CY	\$7.50	\$5,625.00	\$7.50	\$5,625.00	\$7.50	\$5,625.00	\$7.50	\$5,625.00	\$7.50	\$5,625.00	\$7.50	\$5,625.00
060	GR AGGR BASE CRS, INCL MATL	1,230 TN	\$35.00	\$43,050.00	\$36.35	\$44,710.50	\$46.00	\$56,580.00	\$42.00	\$51,660.00	\$30.00	\$36,900.00	\$49.75	\$61,192.50
065	AGGR SURF CRS RECYCLED ASPH CONC PATCHING,	100 TN	\$35.00	\$3,500.00	\$38.00	\$3,800.00	\$50.00	\$5,000.00	\$42.00	\$4,200.00	\$30.00	\$3,000.00	\$60.00	\$6,000.00
070	INCL BITUM MATL & H LIME	110 TN	\$245.00	\$26,950.00	\$245.00	\$26,950.00	\$250.00	\$27,500.00	\$342.00	\$37,620.00	\$235.00	\$25,850.00	\$329.26	\$36,218.60
075	RECYCLED ASPH CONC LEVELING, INCL BITUM MATL & H LIME	129 TN	\$185.00	\$23,865.00	\$185.40	\$23,916.60	\$175.00	\$22,575.00	\$283.00	\$36,507.00	\$165.00	\$21,285.00	\$251.34	\$32,422.86
080	RECYCLED ASPH CONC 25 MM SUPERPAVE, GP1 OR2, INCL BITUM MATL & H LIME	250 TN	\$180.00	\$45,000.00	\$188.50	\$47,125.00	\$155.00	\$38,750.00	\$253.00	\$63,250.00	\$151.00	\$37,750.00	\$239.83	\$59,957.50
085	RECYCLED ASPH CONC 12.5 MM SUPERPAVE, GP2 ONLY, INCL BITUM MATL & H LIME	660 TN	\$180.00	\$118,800.00	\$195.10	\$128,766.00	\$160.00	\$105,600.00	\$158.00	\$104,280.00	\$154.00	\$101,640.00	\$158.21	\$104,418.60
090	RECYCLED ASPH CONC 19 MM SUPERPAVE, GP1 OR2,INCL BITUM MATL & H LIME	170 TN	\$175.00	\$29,750.00	\$201.35	\$34,229.50	\$165.00	\$28,050.00	\$258.00	\$43,860.00	\$153.00	\$26,010.00	\$203.88	\$34,659.60
095	RECYCLED ASPH CONC 12.5 MM SUPERPAVE, GP2 ONLY, INCL POLYMER- MOD BITUM MATL & H LIME	360 TN	\$175.00	\$63,000.00	\$194.50	\$70,020.00	\$176.00	\$63,360.00	\$171.00	\$61,560.00	\$170.00	\$61,200.00	\$211.18	\$76,024.80
100	TACK COAT	730 GL	\$5.75	\$4,197.50	\$9.50	\$6,935.00	\$7.50	\$5,475.00	\$4.80	\$3,504.00	\$5.85	\$4,270.50	\$3.50	\$2,555.00
105	MILL ASPH CONC PVMT, VARIABLE DEPTH	2,297 SY	\$6.34	\$14,562.98	\$6.85	\$15,734.45	\$6.50	\$14,930.50	\$15.00	\$34,455.00	\$6.50	\$14,930.50	\$11.60	\$26,645.20
110	DRIVEWAY CONCRETE, 6 IN TK	25 SY	\$49.50	\$1,237.50	\$52.45	\$1,311.25	\$95.00	\$2,375.00	\$93.50	\$2,337.50	\$55.00	\$1,375.00	\$78.30	\$1,957.50
115	CONC SIDEWALK, 4 IN	980 SY	\$38.00	\$37,240.00	\$41.08	\$40,258.40	\$60.00	\$58,800.00	\$67.50	\$66,150.00	\$40.00	\$39,200.00	\$46.35	\$45,423.00
120	CONC SIDEWALK, 8 IN	410 SY	\$85.00	\$34,850.00	\$63.83	\$26,170.30	\$130.00	\$53,300.00	\$133.00	\$54,530.00	\$65.00	\$26,650.00	\$101.00	\$41,410.00
125 130	CONCRETE MEDIAN, 7 1/2 IN CONC VALLEY GUTTER, 6 IN	70 SY 49 SY	\$114.00 \$49.50	\$7,980.00 \$2,425.50	\$65.51 \$52.45	\$4,585.70 \$2,570.05	\$125.00 \$95.00	\$8,750.00 \$4,655.00	\$123.00 \$99.75	\$8,610.00 \$4,887.75	\$65.00 \$55.00	\$4,550.00 \$2,695.00	\$103.00 \$83.50	\$7,210.00 \$4,091.50
130	CONC VALLEY GUTTER, 8 IN X 24 IN, TP	49 SY 90 LF	\$49.50 \$26.00	\$2,425.50	\$52.45 \$21.63	\$2,570.05 \$1,946.70	\$95.00 \$27.00	\$4,655.00	\$99.75 \$34.50	\$4,887.75 \$3,105.00	\$55.00	\$2,695.00	\$83.50 \$28.85	\$4,091.50 \$2,596.50
140	CONC CURB & GUTTER, 8 IN X 30 IN, TP	2,470 LF	\$26.00	\$64,220.00	\$21.63	\$53,426.10	\$27.00	\$66,690.00	\$37.00	\$91,390.00	\$22.00	\$54,340.00	\$31.00	\$76,570.00
145	PVMT REINF FABRIC STRIPS, TP 2, 18 INCH WIDTH	1,752 LF	\$12.54	\$21,970.08	\$3.50	\$6,132.00	\$9.00	\$15,768.00	\$9.50	\$16,644.00	\$12.00	\$21,024.00	\$15.00	\$26,280.00
150	CLASS B CONC, BASE OR PVMT WIDENING	58 CY	\$260.00	\$15,080.00	\$275.00	\$15,950.00	\$460.00	\$26,680.00	\$475.00	\$27,550.00	\$250.00	\$14,500.00	\$400.00	\$23,200.00

BL093-22

BL093-22 Webb Gin House Road at SR 20/ Grayson Highway Intersection Improvement Project

Department of Transportation

Depart	ment of Transportation		Backbone Ir	frastructure,					E.R. Snell	Contractor,	Ohmshiv C	construction,	Pittman C	onstruction
			LLC (L)		CMC, Inc. (L)		CMES, Inc. (L)		Inc. (L)		LLC (L)		Company (OC)	
ITEM			UNIT	-	UNIT		UNIT		UNIT		UNIT	1	UNIT	·
#		QTY	PRICE	TOTAL PRICE	PRICE	TOTAL PRICE	PRICE	TOTAL PRICE	PRICE	TOTAL PRICE	PRICE	TOTAL PRICE	PRICE	TOTAL PRICE
155	GALV STEEL PIPE HANDRAIL, 2 IN, ROUND	90 LF	\$85.00	\$7,650.00	\$40.00	\$3,600.00	\$58.00	\$5,220.00	\$105.00	\$9,450.00	\$70.00	\$6,300.00	\$90.00	\$8,100.00
160	STN DUMPED RIP RAP, TP 3, 18 IN	61 SY	\$75.00	\$4,575.00	\$50.76	\$3,096.36	\$73.00	\$4,453.00	\$53.00	\$3,233.00	\$55.00	\$3,355.00	\$65.00	\$3,965.00
165	PLASTIC FILTER FABRIC	61 SY	\$4.00	\$244.00	\$4.50	\$274.50	\$8.00	\$488.00	\$5.95	\$362.95	\$4.00	\$244.00	\$8.00	\$488.00
170	REMOVE AND RESET PARK BENCH	1 EA	\$250.00	\$250.00	\$750.00	\$750.00	\$2,500.00	\$2,500.00	\$2,740.00	\$2,740.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00
175	REMOVE AND RESET TRASH RECEPTACLE	1 EA	\$250.00	\$250.00	\$750.00	\$750.00	\$2,500.00	\$2,500.00	\$2,740.00	\$2,740.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00
180	CHANGEABLE MESSAGE SIGN, PORTABLE, TYPE 3	3 EA	\$8,000.00	\$24,000.00	\$6,500.00	\$19,500.00	\$4,500.00	\$13,500.00	\$10,300.00	\$30,900.00	\$7,000.00	\$21,000.00	\$7,500.00	\$22,500.00
185	BARRIER FENCE (ORANGE), 4 FT	100 LF	\$2.50	\$250.00	\$1.50	\$150.00	\$4.50	\$450.00	\$4.10	\$410.00	\$2.00	\$200.00	\$4.00	\$400.00
190	GRASSING COMPLETE (SOD) - PROJECT NO. M-1078-02	1 LS	\$19,704.00	\$19,704.00	\$32,444.44	\$32,444.44	\$30,000.00	\$30,000.00	\$92,700.00	\$92,700.00	\$32,500.00	\$32,500.00	\$65,000.00	\$65,000.00
195	CONC SPILLWAY, TP3	1 EA	\$4,500.00	\$4,500.00	\$3,800.00	\$3,800.00	\$2,200.00	\$2,200.00	\$3,060.00	\$3,060.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00
200	STORM DRAIN PIPE, 15 IN, H 1-10	130 LF	\$50.00	\$6,500.00	\$68.50	\$8,905.00	\$90.00	\$11,700.00	\$105.00	\$13,650.00	\$65.00	\$8,450.00	\$80.00	\$10,400.00
205	STORM DRAIN PIPE, 18 IN, H 1-10	229 LF	\$60.00	\$13,740.00	\$72.84	\$16,680.36	\$100.00	\$22,900.00	\$102.00	\$23,358.00	\$70.00	\$16,030.00	\$91.00	\$20,839.00
210	STORM DRAIN PIPE, 24 IN, H 1-10	46 LF	\$90.00	\$4,140.00	\$104.48	\$4,806.08	\$130.00	\$5,980.00	\$163.00	\$7,498.00	\$105.00	\$4,830.00	\$123.50	\$5,681.00
215	FLARED END SECTION 18 IN, STORM DRAIN	2 EA	\$1,500.00	\$3,000.00	\$1,680.00	\$3,360.00	\$1,800.00	\$3,600.00	\$1,390.00	\$2,780.00	\$1,850.00	\$3,700.00	\$1,155.00	\$2,310.00
220	FLARED END SECTION 24 IN, STORM DRAIN	2 EA	\$2,000.00	\$4,000.00	\$2,250.00	\$4,500.00	\$2,000.00	\$4,000.00	\$1,720.00	\$3,440.00	\$2,000.00	\$4,000.00	\$1,445.00	\$2,890.00
225	UNDDR PIPE INCL DRAINAGE AGGR, 6 IN	410 LF	\$8.00	\$3,280.00	\$5.25	\$2,152.50	\$10.00	\$4,100.00	\$34.75	\$14,247.50	\$15.00	\$6,150.00	\$31.00	\$12,710.00
230	ADJUST CATCH BASIN TO GRADE	1 EA	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$2,900.00	\$2,900.00	\$4,000.00	\$4,000.00	\$2,200.00	\$2,200.00	\$3,323.00	\$3,323.00
235	ADJUST DROP INLET TO GRADE	2 EA	\$2,500.00	\$5,000.00	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00	\$1,790.00	\$3,580.00	\$2,200.00	\$4,400.00	\$1,500.00	\$3,000.00
240	CATCH BASIN, GP1	5 EA	\$5,000.00	\$25,000.00	\$3,450.00	\$17,250.00	\$4,800.00	\$24,000.00	\$7,030.00	\$35,150.00	\$4,500.00	\$22,500.00	\$5,840.00	\$29,200.00
245	SPECIAL DESIGN CATCH BASIN	3 EA	\$4,500.00	\$13,500.00	\$3,800.00	\$11,400.00	\$4,500.00	\$13,500.00	\$8,820.00	\$26,460.00	\$2,750.00	\$8,250.00	\$7,320.00	\$21,960.00
250	CATCH BASIN, GP1, ADDL DEPTH	1 LF	\$450.00	\$450.00	\$250.00	\$250.00	\$550.00	\$550.00	\$675.00	\$675.00	\$850.00	\$850.00	\$560.00	\$560.00
255	HIGHWAY SIGNS, TP 2 MATL, REFL SHEETING, TP 9	56 SF	\$66.75	\$3,738.00	\$47.00	\$2,632.00	\$77.00	\$4,312.00	\$83.00	\$4,648.00	\$67.00	\$3,752.00	\$74.20	\$4,155.20
260	STRAIN POLE, TP IV	1 EA	\$9,140.00	\$9,140.00	\$13,500.00	\$13,500.00	\$10,000.00	\$10,000.00	\$11,400.00	\$11,400.00	\$9,500.00	\$9,500.00	\$7,500.00	\$7,500.00
265	TRAFFIC SIGNAL INSTALLATION NO 1	1 LS	\$65,945.00	\$65,945.00	\$73,540.00	\$73,540.00	\$87,500.00	\$87,500.00	\$82,000.00	\$82,000.00	\$70,000.00	\$70,000.00	\$91,670.00	\$91,670.00
270	LUMINAIRE BRACKET ARM, 15 FT	2 EA	\$1,180.00	\$2,360.00	\$925.00	\$1,850.00	\$2,100.00	\$4,200.00	\$1,470.00	\$2,940.00	\$1,200.00	\$2,400.00	\$875.00	\$1,750.00
275	MICROWAVE RADAR DETECTION ASSEMBLY (STOP BAR RADAR DETECTION)	4 EA	\$9,760.00	\$39,040.00	\$8,500.00	\$34,000.00	\$7,900.00	\$31,600.00	\$12,100.00	\$48,400.00	\$10,500.00	\$42,000.00	\$7,500.00	\$30,000.00
280	MICROWAVE RADAR DETECTION ASSEMBLY (ADVANCE RADAR DETECTION)	2 EA	\$9,865.00	\$19,730.00	\$8,500.00	\$17,000.00	\$7,900.00	\$15,800.00	\$12,300.00	\$24,600.00	\$10,500.00	\$21,000.00	\$7,500.00	\$15,000.00
285	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 9	88 SF	\$50.10	\$4,408.80	\$47.00	\$4,136.00	\$27.00	\$2,376.00	\$26.75	\$2,354.00	\$35.00	\$3,080.00	\$90.00	\$7,920.00
290	HIGHWAY SIGNS, TP 1 MATL, REFL SHEETING, TP 11	60 SF	\$21.65	\$1,299.00	\$21.65	\$1,299.00	\$28.00	\$1,680.00	\$26.75	\$1,605.00	\$22.00	\$1,320.00	\$22.30	\$1,338.00
295	GALV STEEL POSTS, TP 7	173 LF	\$9.10	\$1,574.30	\$11.00	\$1,903.00	\$15.00	\$2,595.00	\$11.25	\$1,946.25	\$10.00	\$1,730.00	\$9.40	\$1,626.20
300	GALV STEEL POSTS, TP 9	30 LF	\$9.40	\$282.00	\$12.00	\$360.00	\$15.00	\$450.00	\$11.50	\$345.00	\$10.50	\$315.00	\$9.70	\$291.00
305	STEEL WIRE STRAND CABLE, 3/8 IN	91 LF	\$16.25	\$1,478.75	\$4.50	\$409.50	\$4.50	\$409.50	\$20.25	\$1,842.75	\$16.50	\$1,501.50	\$10.00	\$910.00
310 315	STRAIN POLE, TP III THERMOPLASTIC PVMT MARKING,	2 EA 29 EA	\$9,905.00 \$95.00	\$19,810.00 \$2,755.00	\$9,550.00 \$115.00	\$19,100.00	\$11,000.00 \$120.00	\$22,000.00	\$12,300.00 \$93.50	\$24,600.00 \$2,711.50	\$10,000.00 \$100.00	\$20,000.00	\$8,000.00 \$77.25	\$16,000.00
	ARROW, TP 2 THERMOPLASTIC PVMT MARKING,					\$3,335.00		\$3,480.00				\$2,900.00		\$2,240.25
320	ARROW, TP 3 WET WEATHER THERMOPLASTIC SOLID	3 EA	\$145.00	\$435.00	\$275.00	\$825.00	\$190.00	\$570.00	\$187.00	\$561.00	\$150.00	\$450.00	\$154.50	\$463.50
325	TRAF STRIP, 5 IN, WHITE WET WEATHER THERMOPLASTIC SOLID	4,400 LF	\$1.60	\$7,040.00	\$2.00	\$8,800.00	\$2.00	\$8,800.00	\$1.55	\$6,820.00	\$1.65	\$7,260.00	\$1.30	\$5,720.00
330	TRAF STRIP, 5 IN, YELLOW THERMOPLASTIC SOLID TRAF	2,200 LF	\$1.65	\$3,630.00	\$2.00	\$4,400.00	\$2.00	\$4,400.00	\$1.55	\$3,410.00	\$1.65	\$3,630.00	\$1.30	\$2,860.00
335	STRIPE,24 IN, WHITE	200 LF	\$5.00	\$1,000.00	\$7.50	\$1,500.00	\$6.50	\$1,300.00	\$9.35	\$1,870.00	\$5.50	\$1,100.00	\$7.75	\$1,550.00

BID TABULATION

BL093-22

PAGE 3 of 3

Webb Gin House Road at SR 20/ Grayson Highway Intersection Improvement Project Department of Transportation

			Backbone Infrastructure, LLC (L)		CMC, Inc. (L)		CMES, Inc. (L)		E.R. Snell Contractor, Inc. (L)		Ohmshiv Construction, LLC (L)		Pittman Construction Company (OC)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
340	THERMOPLASTIC SOLID TRAF STRIPE,8 IN, WHITE	3,580 LF	\$2.50	\$8,950.00	\$2.50	\$8,950.00	\$3.00	\$10,740.00	\$3.10	\$11,098.00	\$2.65	\$9,487.00	\$2.60	\$9,308.00
345	WET WEATHER THERMOPLASTIC SKIP TRAF STRIPE, 5 IN, WHITE	800 GLF	\$0.85	\$680.00	\$1.00	\$800.00	\$1.10	\$880.00	\$0.96	\$768.00	\$1.00	\$800.00	\$0.85	\$680.00
350	THERMOPLASTIC TRAF STRIPING, WHITE	400 SY	\$5.00	\$2,000.00	\$7.00	\$2,800.00	\$6.50	\$2,600.00	\$6.25	\$2,500.00	\$6.00	\$2,400.00	\$5.15	\$2,060.00
355	THERMOPLASTIC TRAF STRIPING, YELLOW	210 SY	\$4.50	\$945.00	\$7.00	\$1,470.00	\$6.00	\$1,260.00	\$6.25	\$1,312.50	\$6.00	\$1,260.00	\$5.15	\$1,081.50
360	RAISED PVMT MARKERS TP1 & TP 3	350 EA	\$5.00	\$1,750.00	\$6.00	\$2,100.00	\$6.50	\$2,275.00	\$6.25	\$2,187.50	\$6.00	\$2,100.00	\$5.15	\$1,802.50
365	DUCTILE IRON PIPE - 6 IN DIAMETER	10 LF	\$150.00	\$1,500.00	\$150.00	\$1,500.00	\$162.00	\$1,620.00	\$120.00	\$1,200.00	\$125.00	\$1,250.00	\$99.00	\$990.00
370	WATER SERVICE CONNECTION - 3/4 IN - 1 IN LONG SIDE SERVICE CONNECTION	1 EA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,650.00	\$2,650.00	\$4,250.00	\$4,250.00	\$1,850.00	\$1,850.00	\$3,505.00	\$3,505.00
375	WATER SERVICE CONNECTION - 3/4 IN - 1 IN SHORT SIDE SERVICE CONNECTION	8 EA	\$1,800.00	\$14,400.00	\$1,800.00	\$14,400.00	\$1,875.00	\$15,000.00	\$2,280.00	\$18,240.00	\$1,500.00	\$12,000.00	\$1,882.00	\$15,056.00
380	GATE VALVES - 6 IN DIAMETER	1 EA	\$3.000.00	\$3.000.00	\$3.000.00	\$3.000.00	\$2.950.00	\$2.950.00	\$3.780.00	\$3.780.00	\$2.000.00	\$2.000.00	\$3.114.00	\$3.114.00
385	RELOCATION AND/OR RECONSTRUCTION OF EXISTING FIRE HYDRANTS	1 EA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,650.00	\$2,650.00	\$12,700.00	\$12,700.00	\$2,500.00	\$2,500.00	\$10,491.00	\$10,491.00
390	ADJUST VALVE BOX	10 EA	\$250.00	\$2,500.00	\$250.00	\$2,500.00	\$250.00	\$2,500.00	\$1,850.00	\$18,500.00	\$300.00	\$3,000.00	\$1,250.00	\$12,500.00
	· · · · · · · · · · · · · · · · · · ·	,736.36	\$1,452,210.00 \$1,5			\$1,510,710.00 \$1,791,		1,303.95 \$1,454		1,769.50 \$1,815,		5,166.56		

Recommended Vendor:

Backbone Infrastructure, LLC

Attn: Ritvik Kakadia

4805 Westoak Court

Sugar Hill, Georgia 30518 Phone: 470-418-3016

Email: ritvik.k@backboneinfra.com